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SARDAR PATEL UNIVERSITY 

SY BSc (Home) III Semester Examination 

Wednesday, 10 October 2012 

2.30 - 4.30 pm 

UH03CVFN15 : Food Costing 

 

        Total Marks : 30 

 

Note : Figures to the right indicate full marks of the question. 
 
Q.1 The Profit and Loss Account and Balance Sheet of Happy Ltd. is given  (10) 
 below : 
 

Profit and Loss Account for the year ended 31st March, 2012 
 Rs.  Rs. 
To Opening Stock 80000 By Sales 900000 
To Purchases 560000 By Closing Stock 100000 
To Wages 135000   
To Gross Profit 225000   

 1000000  1000000 

To Factory expenses 60000 By Gross Profit 225000 
To Office expenses 45000   
To Selling expenses 30000   
To Net Profit 90000   

 225000  225000 
 

Balance sheet as on 31st March 2012 

 Liabilities Rs. Assets Rs. 
Equity Share Capital 180000 Land and Buildings 200000 
Reserves and Surplus 115000 Plant and Machinery 190000 
Secured Loans 200000 Stock 100000 
Sundry Creditors 105000 Debtors 75000 
  Cash & Bank Balance 35000 

 600000  600000 
 

 Calculate the following ratios : 
 (1) Gross Profit Ratio   (4) Stock Turnover 
 (2) Net Profit Ratio   (5) Current Ratio 
 (3) Operating Ratio   (6) Debtors Ratio 
 
 
Q.2 
(a) Distinguish between Direct Wages and Indirect Wages.     (03) 
 
(b) Explain in brief Time Wage System and Piece Wage System.    (03) 
 
(c) What is Labour Turnover ? Explain the causes of Labour Turnover.  (03) 

 

OR 
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Q.2 
(a) Explain the following overheads with suitable examples :     (06) 
 (1) Factory Overheads 
 (2) Administrative Overheads 
 (3) Selling and Distribution Overheads 
 
(b) Explain Fixed Cost and Variable Cost with suitable illustrations.   (03) 
 
 
Q.3 
(a) Explain different types of materials.         (03) 
 
(b) Discuss the principles of purchasing.         (03) 
 

OR 

 
Q.3 From the following particulars find out :        (06) 
 (i) Re-order level  (ii) Minimum  Level (iii) Maximum Level 
 
  Re-order Quantity   : 10000 units 
  Time required for delivery : 2 to 4 months 
  Maximum Consumption : 2500 units per month 
  Normal Consumption  : 2000 units per month 
  Minimum Consumption  : 1500 units per month 
 
Q.4 
(a) What method of Costing would you recommend for the following    (03) 
 industries ? 
 (1) Cement  (3) Readymade garments (5) Paints & Decoration  
 (2) Railways  (4) Sugar     (6) Building Construction 
 
(b) Suggest the suitable Cost unit for following industries :     (02) 
 (1) Chemical s (3) Electricity 
 (2) Steel  (4) Television 
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NyS>fpsu sfS|>dp¡ 
Ly$g NyZ : 30 

_p¢^ : S>dZu bpSy>_p Ap„L$ âñ_p NyZ v$ip®h¡ R>¡. 
 
â.1 l¡`u rgrdV¡$X$_y„ _ap-_yL$kp_ Mpsy A_¡ `pLy„$ kfh¥ey„ _uQ¡ dyS>b R>¡.     (10) 
  
  _ap-_yL$kp_ Mpsy„ sp. 31-3-2012_p fp¡S> `|fp \sp hj®_y„ 

 ê$—&.  ê$—&. 
iê$Aps_p¡ õV$p¡L$ 80000   h¡QpZ 900000 
Mfuv$u 560000   ApMf õV$p¡L$ 100000 
dS|>fu 135000   
L$pQp¡ _ap¡ 225000   
 1000000  100000

0 

L$pfMp_p MQ® 60000   L$pQp¡ _ap¡ 225000 
Ap¡qak MQ® 45000   
h¡QpZ MQ® 30000   
Qp¡¿Mp¡ _ap¡ 90000   
 225000  225000 

 
`pLy„$ kfh¥ey„ sp. 31-3-2012_p fp¡S>_y„ 

d|X$u-v$¡hp ê$—&. rdgL$s-g¡Zp„ ê$—&. 
C¼huV$u i¡f d|X$u 180000  S>du_ A_¡ dL$p_ 200000 
A_pds A_¡ h^pfp¡ 115000  àgpÞV$ A_¡ e„Óp¡ 190000 
spfZhpmu gp¡_ 200000  õV$p¡L$ 100000 
`fQ|fZ g¡Zv$pfp¡ 105000  v$¡hpv$pfp¡ 75000 
   fp¡L$X$ A_¡ b¢L$ rkgL$ 35000 

 600000  600000 
 

 _uQ¡_p NyZp¡Ñfp¡_u NZsfu L$fp¡ : 
 (1) L$pQp _ap_p¡ NyZp¡Ñf   (4) õV$p¡L$ Qg_ v$f 
 (2) Qp¡¿Mp _ap_p¡ NyZp¡Ñf   (5) Qpgy NyZp¡Ñf 
 (3) k„Qpg_ NyZp¡Ñf    (6) v$¡hpv$pf NyZp¡Ñf 
 
â.2 

(A) âÐen dS|>fu A_¡ `fp¡n dS|>fu hÃQ¡_p¡ saphs gMp¡.         (03) 
(b) kde gp¡_ ep¡S>_p A_¡ L$pe® h¡s_ ep¡S>_p V|„$L$dp„ kdÅhp¡.        (03) 
(L$) dS|>f a¡fbv$gu v$f A¡V$g¡ iy„ ? dS|>f a¡f bv$gu v$f_p L$pfZp¡ kdÅhp¡.      (03) 

 
A\hp 

â.2 

(A) _uQ¡_p `fp¡n MQp® ep¡Áe Dv$plfZ krls kdÅhp¡.         (06) 
 (1) L$pfMp_p `fp¡n MQ® 
 (2) hluhV$u `fp¡n MQ® 
 (3) h¡QpZ A_¡ rhsfZ `fp¡n MQ® 
 

(b) [õ\f MQ® A_¡ Qrgs MQ® ep¡Áe Dv$plfZ krls kdÅhp¡.        (03) 
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â.3 

(A) dpgkpdp__p rhrh^ âL$pfp¡ kdÅhp¡.           (03) 
 

(b) Mfuv$u_p rkÙp„sp¡_u QQp® L$fp¡.            (03) 
 

A\hp 
 

â.3 _uQ¡_u dprlsu `f\u ip¡̂ p¡ :            (06) 
 (1) `y_:hfv$u k`pV$u (2) gOyÑd k`pV$u (3) NyfyÑd k`pV$u 
 
  `y_: hfv$u S>Õ\p¡   : 10000 A¡L$dp¡ 
  dpg d¡mhsp„ gpNsp¡ kde  : 2 \u 4 drl_p 
  h^ydp„ h^y h`fpi   : 2500 A¡L$dp¡, v$f drl_¡ 
  kpdpÞe h`fpi   : 2000 A¡L$dp¡, v$f drl_¡ 
  Ap¡R>pdp„ Ap¡R>p¡ h`fpi  : 1500 A¡L$dp¡, v$f drl_¡ 
 
â.4 

(A) _uQ¡_p DÛp¡Np¡ dpV¡$ sd¡ L$C `X$sf_u `Ùrs k|Qhip¡ ?        (03) 
 (1) kud¡ÞV$  (3) s¥epf L$`X$p„  (5) f„NL$pd A_¡ kyip¡c_ 
 (2) f¡ëh¡   (4) Mp„X$   (6) dL$p_ bp„̂ L$pd 
 

(b) _uQ¡_p DÛp¡Np¡ dpV¡$ ep¡Áe `X$sf A¡L$d k|Qhp¡ :          (02) 
 (1) fkpeZ DÛp¡N   (3) huS>mu 
 (2) gp¡M„X$-`p¡g„v$ DÛp¡N   (4) V¡$rgrhT_ 

  
 
 

* * * 
  


